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w_lect23 1 (By hapnd)
rstder-thedata from an example in a past lecture where a survey of students in 390 yielded the following data:

O Ci
17 students like lab
48 do not like lab

15 have no opinion
Suppose I believed that the proportion of students in each of the 3 categories (like, no-like, no-opinion) was

equal. Does this~data contradict that belief? Use alpha = 0.05

hw_lect23 2 (By hand)
| computers has 56 defectives. Theory suggests that a third of all Bell computers should be

defective. Does this data contradict the theory (at alpha=0.05)? Specifcially,

a) Do a z-test ,
b) Do a chi-squared test with k=2 categories. Hint: The pi's (and pi_0's) of the k categories must sum to 1.

c¢) Are the conclusions in a and b consistent?




